
1/10 
 

 
 

  

  NL Montagehandleiding 
  D Montageanleitung 
  GB Fitting instruction 
  F Instruction de montage 
  E Instrucciones de montaje 
  DK Montagevejledning 
  N Monteringsveiledning 
  S Monteringshandledning 
  FIN Asennusohje 
  I Istruzioni di montaggio 
  CZ Návod k montáži 
  PL Instrukcja montażu 
  H Szerelési utasítás 

Partnr.: 049723 

 
EC 94/20 

e4    00-4212 
 

2100 kg 

 

1400 kg 

 

75 kg 

 

8,24 kN 

 

RENAULT Megane 
Grand Scenic III 

  04/2009  

Ball code: 99.4071-4896 

(c) ACPS Automotive 
Date: 09-04-2021 
Rev. nr.  02 Type number: 049723 

w
w
w
.s

m
id

.h
u



2/10 
 

 

 
  

Meegeleverde onderdelen 
Mitgelieferte Befestigungsteile 
Provided parts 
Materiel de fixation joint 
Piezas incluidas 

Medf lgende komponenterø Componenti  forniti  a corredo 
 Vedlagt festemateriell Dodané  upevňovací  díly 
Medföljande komponenter Dostarczone  części  wymienn 
 Mukana  tulevat  osat Általunk biztosított alkatrészek 

bolt size  Quality Quantity Spanner 
 

 

M10x30 
M10x45 
M12x50 
M12x110 

 8.8 
8.8 
8.8 
10.9 

 2 
 2  
4  
2 

 13  
13  
19  
19 

2x M12(10) 

2x M12(10) 

 2x 10,ø5 
1xø 13 

4x  A10 
4x  A12 

 4x 10,5ø 

 
 

 

DETAIL 2 DETAIL 1 

w
w
w
.s

m
id

.h
u



3/10 
 

 
w
w
w
.s

m
id

.h
u



 

4/10 
 

 

 

w
w
w
.s

m
id

.h
u



 

5/10 
 

  

w
w
w
.s

m
id

.h
u



 

6/10 
 

 

  

w
w
w
.s

m
id

.h
u



 

7/10 
 

  

w
w
w
.s

m
id

.h
u



 

8/10 
 

 

  

w
w
w
.s

m
id

.h
u



 

9/10 
 

  

w
w
w
.s

m
id

.h
u



 

10/10 
 

 

 

w
w
w
.s

m
id

.h
u


